Math 371 - Fall 2011 - 9/13/2011 - Quiz #2
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Show all work clearly and in order. Please box your answers. 10 minutes.

PICK ONE OF THE FOLLOWING:

out of 10.

Please indicate which one you do NOT want me to grade by putting an X through it,
otherwise I will grade the first one worked on:

1. Find an implicit AND explicit solution of the following initial-value problem:
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Implicit Solution:

x = 4an (24 -1 )

Explicit Solution:

{(a) Find the general explicit solution of

dy
. et Ny = ~
($+1)d$ + (x + 2)y = 2xe

{b) & Give the largest interval over which the general solution is defined.

{c) # Determine whether there are any transient terms in the general solution.
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Explicit Solution:
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